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On him, but not on the person — DN DY K9 1Y

OVERVIEW

The X713 responded that a person does not pay 791 (if he killed another person),
because he is exempt from payment since the p109 states' Yoy nwy wx 993, the
(extra) word 1°7¥ teaches that 1913 is assessed on him (the owner of the ox), but not
on a person who killed. m501n reconciles our X3 with a seemingly contradictory
halabR

mooIn anticipates a difficulty:
- 9919 NPIY ANN ON *ANY WY W (3,39 9710p%) Y2INN P93

In %277 P95 the X3 interprets the verse that ‘you do not take 2212 (monetary

payment) for a murderous soul’, to infer that -
- >Dr9an YUNIY 9919 NPYY ANN YaN

However you may take 921> (monetary payment) for cutting off the tips of limbs -
- 4155099 NI N33 YPYWN KT SNAN N33 TayN KY NN FNT 199 53390 SN 70999

And the X723 there challenges this interpretation; but that verse (of 1910 PN X?1)
is necessary to teach us that the Merciful One said, ‘do not punish him twice;
do not take his money and kill him’ —

mooIn responds; that X713 (when it states do not punish him twice) -
- NP DINA 5Y XY 19810 XINN “MIWY 159 71D 19 DNT 999N NINT 99193 INY

Is not discussing the 921> payment which we are discussing here; for if that were
s0, the X713 should have answered, that rule (that he does not pay 7910) we derive

it from 2787 Y XD 1HY -
- SA510 Y1Ha NN 1INNA 219X NIN

15,85 (Dvown) Mmw. The P105 reads 1Po¥ MW WK 933 W01 179 I 1HY NWY 9 DX,
? The X1 is interpreting the P109 in X2,7% (*yor) 127n2 which states, 31 117 woI» 912 PN K.
3 This teaches us that when the 7m0 writes "3 7Y nrn 1y; it does not mean literally a limb for a limb, but rather we
pay the monetary value of that limb.
* This seems to contradict our X3 where we derive the rule that we do not kill him and make him pay 1913 (see
previous &7 171"7 mooin [TIE see text by footnote # 5], from the word %9, however from the X773 in 22177 it appears
that we derive this from the 105 of "1 ¥ Wo12 79I PN RY.
> The X3 there responded to the question that we need 1913 7PN XY to teach us °NN 72 72vN K9, by saying that we
know °nan 7°2 7°2vn X7 from the 105 of WMYWI 75 (in 2,75 [R¥N] 0°727) that NW 1217 30K R 20D AR AR AYWI
nywn. The X713 should have responded (if we are discussing a 791> payment) that we derive the exemption of 1913
from 1%y.
® For instance he burnt a barn and simultaneously killed a person inside the barn; he is exempt for paying for the
barn.
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But rather the X3 there (in 921777) is discussing his exemption from paying for

other monies which he damaged while committing the capital crime’ -
- 190N 1575 9T NYWAT 523 S¥APYT (3,15 91 mama) NP 1IN 3315 TN Sy

And the one who asked the question in the 8773 there that we need the P09 of X?
7912 11PN that one does not receive two punishments, erred, just as the X723 erred

in N1w1 99K P10, where the X123 asks, regarding the w7 of 1708 1797 XY -
= NP9 1ION 1919 XINT 912195 %D NNY N¥Y WOIY 9915 INPN Y

‘Why do we need the P10 of X1 woi 2212 PN X%’, meaning that we already
derived this rule from oK 7797 89, there too the X3 erred, for -

1A 2113 NN s 9997 PNYT NPYD NN
It is evident that the X3 there erroneously assumed that the 7105 of 9912 wpn X7

is discussing a case where he damaged other money while committing a capital
offense, when actually the P10 of Wipn X2 teaches us that 1Y DN 1°Y means a monetary payment.

SUMMARY

The 05 of 9910 Mpn XY actually teaches us that Y NN Y means a monetary
payment. The X3 mistakenly assumed that it is discussing 701 772 R 1A, but
the X713 never assumed that it comes to exclude that we do not kill him and make
him pay =913, for that is derived from 1"53.

THINKING IT OVER

Why does mooin prefer that the explanation in 92177 is that when the X 13 said X?
NN "2 72AYN it meant 70 702 MR R (where we have the difficulty that this
nwpn was °vv), rather than saying that °nan 7" 7°2yn KXY is referring to 791> (and
have the difficulty that the & m3x there should have answered Xpo1 15vn)? Why is
one difficulty ‘easier to swallow’ than the other?!

7 Therefore the s'xn3 response there is appropriate that we derive this rule from 1nyw >72.
¥ He erred by assuming that the 105 of "3 1912 PN X7 teaches us that if he damaged money during a capital offense
that he is exempt from paying, when in truth since the P09 writes 2913 PN X?1 it cannot be referring to TnX 17,
° mooIn may be troubled; how can we say that the Jwpn assumed that the P10 of 1913 1PN K7 is discussing MK 177
an 7 772, when the P10 refers to it as 1913. Therefore oI replies that we find the same error elsewhere.
' The mwn there on 3,77 derives from the P09 of W Wy NOR 7% K91 (in 23,82 [D'dvwn] nnw) the rule of 7°% op
711 12172, The 770 says if someone hits a pregnant woman and aborts her children, 170K 77 &9, if the woman did
not die; the aggressor is required to pay (to the husband the value of the children). We infer from this that 77" ox)
710K, if the woman dies; the aggressor is exempt from paying for the babies since n"27p.
' The 109 of 1oX 777 XY is certainly discussing 7102 772 X 1mn, therefore if the X3 says that we already know it
from 1913 1PN K7, it is obvious that the X713 assumes that 791 PN 8?1 is discussing 70 >772 X 0.

2

TosfosInEnglish.com



